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S MEAYD
HH: meae S4(MY - ZAINLLNHN/HSTE - D)
el Metsel NN e (el @2)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
01 At 22l 36,000 36,000 0
OZET 4xt MASEHARYS 29 X 36,000
detaty 22Y HERIT = 35,000 219,000 A 184,000
307 glz2tol & 35,000 15,000 20,000
04 QIZFHALAIH B = 35,000 0 35,000
O==0t N2 &)= DFREH 35,000
AATH - ITMY =4 13,210,000 2,108,000 11,102,000
EctX0tatY 2435 =& 250,000 250,000 0
403 MHXISHEA=01 & 250,000 250,000 0
01 XXM 22 = 250,000 250,000 0
OZct20tatd 43 F& 250,000
gedls 3¥H 25 N 100,000 100,000 0
308 MXIEHSOIH 100,000 100,000 0
01 HXNHHNBHEELS 100,000 100,000 0
Ol At DS X AAY 100,000
SIRMAD s 7Y LRIANG=2R 29X 100,000 100,000 0
306 ¢ 2 100,000 100,000 0
01 &3 100,000 100,000 0
Ost=Ma)|=d & LHINA=2F 2N 100,000
e-mobility 2HAH =4 =& 7,960,000 20,000 7,940,000
201 B2l 20,000 15,000 5,000
01 At 22l 20,000 15,000 5,000
Oe-mobility 2eiAH =24 =& 20,000
202 4l 7,000 5,000 2,000
01 = LH YI 7,000 5,000 2,000
Oe-mobility 2ciAH 24 =& 7,000
405 XHoHE S HI 7,933,000 0 7,933,000
01 AL ESFH S 7,933,000 0 7,933,000
Qe-mobility 24 AH JIBtAIE £ 4 7,933,000
e-mobility && |4 4,000,000 0 4,000,000
308 XXM SOIA 4,000,000 0 4,000,000
10 B2 SUHUEEAHEAE A I 4,000,000 0 4,000,000
Oe-mobility & SE ALY 4,000,000
AES U2 AT i)l 483 N2 500,000 500,000 0
403 Ut ES X201 & 500,000 500,000 0
01 XXM 22 = 500,000 500,000 0
OAER ULEY AT MAI|= o423 XA 500,000




SH: EAAD

M MM SH(MY - SAIHLHHX/AHE T=3)

Cels MATY - ITMY S CER-D
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
EHCH YOIM E3F CIAZH0| Jis WY A 300,000 0 300,000

308 AXISHXSO0IH 300,000 0 300,000

10 SISO UsHE A A E AN HI 300,000 0 300,000
O&FC dolMd E3t CIAZHO Jls g X 300,000

Mefated RO D3 =X 30,000 30,000 0

2008 EMdg =X (Z2HREXNH) 30,000 30,000 0

402 212t X201 A 30,000 30,000 0

01 DIZFXI2AIE E X (XM THE ) 30,000 30,000 0
OZSDSHMME X & 30,000

MEHAAY =4 660,000 0 660,000

MEAMA EHIIE =4 70,000 0 70,000

207 AT OH & H| 70,000 0 70,000

01 g gy 70,000 0 70,000
OXMEHA AN Mot OFa 70,000

MEAAMYE 24 =X 590,000 0 590,000

308 AKX SHHSO0IA 590,000 0 590,000

10 BI2SHUHSEAHAE ALY 590,000 0 590,000
OMfetol= EtATE Iz 590,000

SIH0IE MY SH (L2 /LB Y) 480,000 178,000 302,000

HOIE S&o #HIMHIA A 480,000 178,000 302,000

S8IH0Ie E48AE F& 212,000 112,000 100,000

201 LEt2AY| 10,000 10,000 0

01 AFR2t2l bl 10,000 10,000 0
O 00l 933 28 € A U= 10,000

202 (4] 2,000 2,000 0

01 2L Y| 2,000 2,000 0
O80OolH E48AIYE =& 2,000

207 AT OH ] 200,000 100,000 100,000

02 & AR EHH] 200,000 100,000 100,000
OO &8 S4AMY =X 200,000

SS00IH Y & 2835 =& 68,000 66,000 2,000

201 LEt2 Y| 2,000 2,000 0

01 AFR 22l dl 2,000 2,000 0
O3300IH HYEZE 29 22| 2,000

202 (4] 2,000 0 2,000

01 2L Y| 2,000 0 2,000
OS300IH I & 0l28 8435 FA 2,000




SN dBAAD

(i}

HE: SE0lH MY SS(LNTTHT/AUBE)
&2 OolEe S8 HEMHA A (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
207 A& H| 64,000 10,000 54,000
02 & AR b 64,000 10,000 54,000
OZ2300IH My ZE E43st =& 64,000
A sS40/ YOOl 82 XId Mg 200,000 0 200,000
308 XXM SO0l A 200,000 0 200,000
10 B2 S0 BAHAE AR 200,000 0 200,000
© XY A0/ 200y &8 XNE A 200,000
HY I (M D) (DIEH/DJIEH) 148,205 36,926 111,279
JlE3l 148,205 36,926 111,279
FA2Y JIE23H 148,205 36,926 111,279
201 L2l 128,285 24,326 103,959
01 At 22l 123,485 24,326 99,159
ORAN2Y AR 22l 123,485
02 =24l 4,800 0 4,800
ORNMEY 3329t 4,800
202 O4dl 9,720 9,600 120
01 = LH 4 1l 9,720 9,600 120
ORN2ZE =U0tl 9,720
203 YR =& 10,200 3,000 7,200
01 12 2Z YR8 6,600 0 6,600
OFHML=H 6,600,000& 6,600
04 FN2ELRZ=TH| 3,600 3,000 600
©202! olat 300,000& x12& 3,600




